

DMC No. 000001  
Roll No. 23253502  
Regn. No. 23-DEO-202

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : ASMA SEEDIQI  
Father's Name : MOHAMMAD SEEDIQ  
Mother's Name : SUHAILA  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	31 6 F	40AG	100	F	0	04.0	0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	AB AB F	40AG	100	F	0	04.0	0
3	B23-SOC-401 RESEARCH METHODOLOGY	AB 4 F	40AG	100	F	0	04.0	0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	AB AB F	40AG	100	F	0	04.0	0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	AB AB F	20AG	050	F	0	02.0	0
6	B23-VAC-403 FINANCIAL LITERACY	14 6 *	20AG	050	P	4	02.0	8.0
	TOTAL	***		0500			20.0	008.0
							10.0	0.0

RESULT : RE - TILL JUN- 2027 IN : B23-ECO-401 B23-ENG-401 B23-SOC-401 B23-VOC-225 B23-AEC-411

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000002  
Roll No. 23253504  
Regn. No. 23-DEO-204

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : MOHAMMAD AWLIA NOORZAI  
Father's Name : 0  
Mother's Name : 0  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	AB AB F	40AG	100	F	0	04.0	0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	AB AB F	40AG	100	F	0	04.0	0
3	B23-SOC-401 RESEARCH METHODOLOGY	AB AB F	40AG	100	F	0	04.0	0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	AB AB F	40AG	100	F	0	04.0	0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	12 5 F	20AG	050	F	0	02.0	0
6	B23-VAC-403 FINANCIAL LITERACY	AB AB F	20AG	050	F	0	02.0	0
	TOTAL	****		0500			20.0	000.0
							2.0	0.0

RESULT : RE - TILL JUN- 2027 IN : FAIL

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000003  
Roll No. 23253523  
Regn. No. 23-DEO-223

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : FRANCIS  
Father's Name : 0  
Mother's Name : 0  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	57 26	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	50 23	40AG	100	A	8	04.0	32.0
3	B23-SOC-401 RESEARCH METHODOLOGY	62 29	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	47 25	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	30 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	33 14	20AG	050	O	10	02.0	20.0
	TOTAL	0411		0500			20.0	180.0
	GRAND TOTAL	0411		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : FEB 02,2026  
KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000004  
Roll No. 23253525  
Regn. No. 23-DEO-225

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : TAJINDER SINGH  
Father's Name : GURMEET SINGH  
Mother's Name : PARMJIT KAUR  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	59 25	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	34 23	40AG	100	B+	7	04.0	28.0
3	B23-SOC-401 RESEARCH METHODOLOGY	63 26	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	46 22	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	27 13	20AG	050	A+	9	02.0	18.0
6	B23-VAC-403 FINANCIAL LITERACY	21 13	20AG	050	A	8	02.0	16.0
	TOTAL	0372		0500			20.0	170.0
	GRAND TOTAL	0372		0500			20.0	170.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000005  
Roll No. 23253527  
Regn. No. 23-DEO-227

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : RITESH  
Father's Name : RAMESH CHAND  
Mother's Name : MAHINDRO DEVI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	60 28	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	51 26	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	64 27	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	63 25	40AG	100	O	10	04.0	40.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	32 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	32 14	20AG	050	O	10	02.0	20.0
	TOTAL	0436		0500			20.0	196.0
	GRAND TOTAL	0436		0500			20.0	196.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.80

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000006  
Roll No. 23253528  
Regn. No. 23-DEO-228

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : SRISHTI GOEL  
Father's Name : AMIT GOEL  
Mother's Name : DIPTI GOEL  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	61 28	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	57 25	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	61 28	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	55 21	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	31 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	31 14	20AG	050	O	10	02.0	20.0
	TOTAL	0426		0500			20.0	192.0
	GRAND TOTAL	0426		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000007  
Roll No. 23253530  
Regn. No. 23-DEO-230

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : KULVINDER SINGH  
Father's Name : CHARAN SINGH  
Mother's Name : KAILASH KAUR  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	55 28	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	53 26	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	63 29	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	57 25	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	31 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	33 14	20AG	050	O	10	02.0	20.0
	TOTAL	0429		0500			20.0	188.0
	GRAND TOTAL	0429		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000008  
Roll No. 23253534  
Regn. No. 23-DEO-234

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : ANSHIKA BHARDWAJ  
Father's Name : AJAY KUMAR  
Mother's Name : ANITA RANI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	60 27	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	54 26	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	64 27	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	58 23	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	32 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	32 14	20AG	050	O	10	02.0	20.0
	TOTAL	0432		0500			20.0	192.0
	GRAND TOTAL	0432		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000009  
Roll No. 23253535  
Regn. No. 23-DEO-235

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : RIMPI MITTAL  
Father's Name : RAMESH MITTAL  
Mother's Name : AMBUJ MITTAL  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	57 29	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	59 26	40AG	100	O	10	04.0	40.0
3	B23-SOC-401 RESEARCH METHODOLOGY	62 28	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	46 26	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	30 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	30 14	20AG	050	O	10	02.0	20.0
	TOTAL	0421		0500			20.0	192.0
	GRAND TOTAL	0421		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000010  
Roll No. 23253536  
Regn. No. 23-DEO-236

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : AMANDEEP SINGH  
Father's Name : SURINDERPAL SINGH  
Mother's Name : JASWANT KAUR  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	58 26	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	59 25	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	61 26	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	52 24	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	33 13	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	32 14	20AG	050	O	10	02.0	20.0
	TOTAL	0423		0500			20.0	188.0
	GRAND TOTAL	0423		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000011  
Roll No. 23253537  
Regn. No. 23-DEO-237

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : KHUSHI KUMARI  
Father's Name : PURUSHOTTAM KUMAR CHAUDHARY  
Mother's Name : SUNITA DEVI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	61 16	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	58 19	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	64 17	40AG	100	A+	9	04.0	36.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	59 20	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	33 9	20AG	050	A+	9	02.0	18.0
6	B23-VAC-403 FINANCIAL LITERACY	30 9	20AG	050	A+	9	02.0	18.0
	TOTAL	0395		0500			20.0	180.0
	GRAND TOTAL	0395		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000012  
Roll No. 23253538  
Regn. No. 23-DEO-238

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : TANNU  
Father's Name : MUKESH KUMAR  
Mother's Name : MEENA VERMA  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	44 19	40AG	100	B+	7	04.0	28.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	53 23	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	63 27	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	52 22	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	28 12	20AG	050	A+	9	02.0	18.0
6	B23-VAC-403 FINANCIAL LITERACY	25 11	20AG	050	A	8	02.0	16.0
	TOTAL	0379		0500			20.0	170.0
	GRAND TOTAL	0379		0500			20.0	170.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000013  
Roll No. 23253541  
Regn. No. 23-DEO-241

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : AKSHAT BANSAL  
Father's Name : AMIT BANSAL  
Mother's Name : NEETU BANSAL  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	33 15	40AG	100	C	5	04.0	20.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	31 15	40AG	100	C	5	04.0	20.0
3	B23-SOC-401 RESEARCH METHODOLOGY	39 12	40AG	100	B	6	04.0	24.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	40 12	40AG	100	B	6	04.0	24.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	20 8	20AG	050	B+	7	02.0	14.0
6	B23-VAC-403 FINANCIAL LITERACY	18 11	20AG	050	B+	7	02.0	14.0
	TOTAL	0254		0500			20.0	116.0
	GRAND TOTAL	0254		0500			20.0	116.0

RESULT : PASSED AND HAS OBTAINED : SGPA 5.80

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000014  
Roll No. 23253542  
Regn. No. 23-DEO-242

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : SNEHA  
Father's Name : LAXMAN  
Mother's Name : SONIA  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	43 18	40AG	100	B+	7	04.0	28.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	42 18	40AG	100	B+	7	04.0	28.0
3	B23-SOC-401 RESEARCH METHODOLOGY	47 20	40AG	100	A	8	04.0	32.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	43 18	40AG	100	B+	7	04.0	28.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	23 10	20AG	050	A	8	02.0	16.0
6	B23-VAC-403 FINANCIAL LITERACY	23 10	20AG	050	A	8	02.0	16.0
	TOTAL	0315		0500			20.0	148.0
	GRAND TOTAL	0315		0500			20.0	148.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.40

DATED : FEB 02,2026  
KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000015  
Roll No. 23253543  
Regn. No. 23-DEO-243

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : ANGEL GIRDHAR  
Father's Name : RAJESH  
Mother's Name : CHANCHAL  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	60 28	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	58 25	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	63 28	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	60 23	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	31 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	31 15	20AG	050	O	10	02.0	20.0
	TOTAL	0437		0500			20.0	192.0
	GRAND TOTAL	0437		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000016  
Roll No. 23253544  
Regn. No. 23-DEO-244

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : SURYAA PRATAP SINGH PARMAR  
Father's Name : ABHISHEK SINGH PANWAR  
Mother's Name : RENU SINGH PANWAR  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	58 29	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	62 28	40AG	100	O	10	04.0	40.0
3	B23-SOC-401 RESEARCH METHODOLOGY	58 28	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	53 26	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	30 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	34 15	20AG	050	O	10	02.0	20.0
	TOTAL	0436		0500			20.0	196.0
	GRAND TOTAL	0436		0500			20.0	196.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.80

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000017  
Roll No. 23253545  
Regn. No. 23-DEO-245

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : AARYA PARMAR  
Father's Name : ABHISHEK SINGH PANWAR  
Mother's Name : RENU SINGH PANWAR  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	56 28	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	59 28	40AG	100	O	10	04.0	40.0
3	B23-SOC-401 RESEARCH METHODOLOGY	64 28	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	51 26	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	32 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	32 15	20AG	050	O	10	02.0	20.0
	TOTAL	0433		0500			20.0	192.0
	GRAND TOTAL	0433		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000018  
Roll No. 23253548  
Regn. No. 23-DEO-248

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : MONU  
Father's Name : ASHOK KUMAR  
Mother's Name : PREMA DEVI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	60 29	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	57 26	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	60 29	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	50 20	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	31 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	33 15	20AG	050	O	10	02.0	20.0
	TOTAL	0425		0500			20.0	188.0
	GRAND TOTAL	0425		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000019  
Roll No. 23253551  
Regn. No. 23-DEO-251

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : TIKSHIKA BHOLA  
Father's Name : RANJEET BHOLA  
Mother's Name : SEEMA BHOLA  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	61 28	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	58 27	40AG	100	O	10	04.0	40.0
3	B23-SOC-401 RESEARCH METHODOLOGY	58 26	40AG	100	A+	9	04.0	36.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	51 22	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	29 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	29 13	20AG	050	A+	9	02.0	18.0
	TOTAL	0417		0500			20.0	186.0
	GRAND TOTAL	0417		0500			20.0	186.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.30

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000020  
Roll No. 23253552  
Regn. No. 23-DEO-252

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : VIKRANT  
Father's Name : AMAR NATH  
Mother's Name : METHILESH  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	59 27	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	60 28	40AG	100	O	10	04.0	40.0
3	B23-SOC-401 RESEARCH METHODOLOGY	62 29	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	57 26	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	32 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	26 15	20AG	050	A+	9	02.0	18.0
	TOTAL	0436		0500			20.0	194.0
	GRAND TOTAL	0436		0500			20.0	194.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.70

DATED : FEB 02,2026  
KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000021  
Roll No. 23253557  
Regn. No. 23-DEO-257

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : PARMINDER KAUR  
Father's Name : BHAGAT SINGH  
Mother's Name : SUNITA DEVI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	57 27	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	45 12	40AG	100	B+	7	04.0	28.0
3	B23-SOC-401 RESEARCH METHODOLOGY	46 27	40AG	100	A	8	04.0	32.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	44 21	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	26 14	20AG	050	A+	9	02.0	18.0
6	B23-VAC-403 FINANCIAL LITERACY	30 13	20AG	050	O	10	02.0	20.0
	TOTAL	0362		0500			20.0	166.0
	GRAND TOTAL	0362		0500			20.0	166.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.30

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000022  
Roll No. 23253560  
Regn. No. 23-DEO-260

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : ANKIT  
Father's Name : BIRENDER SINGH  
Mother's Name : NEELAM  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	50 26	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	44 23	40AG	100	A	8	04.0	32.0
3	B23-SOC-401 RESEARCH METHODOLOGY	54 26	40AG	100	A+	9	04.0	36.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	58 10	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	20 14	20AG	050	A	8	02.0	16.0
6	B23-VAC-403 FINANCIAL LITERACY	32 14	20AG	050	O	10	02.0	20.0
	TOTAL	0371		0500			20.0	172.0
	GRAND TOTAL	0371		0500			20.0	172.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : FEB 02,2026  
KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000023  
Roll No. 23253564  
Regn. No. 23-DEO-264

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : MOHIT  
Father's Name : MOHINDER SINGH  
Mother's Name : KAMLA BAI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	28 12	40AG	100	P	4	04.0	16.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	25 11 F	40AG	100	F	0	04.0	0
3	B23-SOC-401 RESEARCH METHODOLOGY	33 14	40AG	100	C	5	04.0	20.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	28 12 *	40AG	100	P	4	04.0	16.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	17 7	20AG	050	C	5	02.0	10.0
6	B23-VAC-403 FINANCIAL LITERACY	20 9	20AG	050	B+	7	02.0	14.0
	TOTAL	***		0500			20.0	076.0
							20.0	76.0

RESULT : RE - TILL JUN- 2027 IN : B23-ENG-401

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000024  
Roll No. 23253565  
Regn. No. 23-DEO-265

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : MAITHILY  
Father's Name : VINOD KUMAR  
Mother's Name : REENA  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	57 29	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	40 26	40AG	100	A	8	04.0	32.0
3	B23-SOC-401 RESEARCH METHODOLOGY	52 22	40AG	100	A	8	04.0	32.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	AB AB F	40AG	100	F	0	04.0	0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	29 12	20AG	050	A+	9	02.0	18.0
6	B23-VAC-403 FINANCIAL LITERACY	21 9	20AG	050	B+	7	02.0	14.0
	TOTAL	***		0500			20.0	136.0
							16.0	136.0

RESULT : RE - TILL JUN- 2027 IN : B23-VOC-225

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000025  
Roll No. 23253567  
Regn. No. 23-DEO-267

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : JASKARAN SINGH CHEEMA  
Father's Name : GURDEEP SINGH CHEEMA  
Mother's Name : RAMANDEEP KAUR  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	57 29	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	54 29	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	63 29	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	58 26	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	33 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	33 15	20AG	050	O	10	02.0	20.0
	TOTAL	0441		0500			20.0	192.0
	GRAND TOTAL	0441		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000026  
Roll No. 23253568  
Regn. No. 23-DEO-268

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : TANVI  
Father's Name : SANJAY RAHEJA  
Mother's Name : SUNITA RANI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	55 23	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	40 8	40AG	100	C	5	04.0	20.0
3	B23-SOC-401 RESEARCH METHODOLOGY	56 7	40AG	100	B+	7	04.0	28.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	41 14	40AG	100	B+	7	04.0	28.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	27 5	20AG	050	B+	7	02.0	14.0
6	B23-VAC-403 FINANCIAL LITERACY	28 7	20AG	050	A	8	02.0	16.0
	TOTAL	0311		0500			20.0	142.0
	GRAND TOTAL	0311		0500			20.0	142.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.10

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000027  
Roll No. 23253569  
Regn. No. 23-DEO-269

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : NAVEEN PAHAL  
Father's Name : MOHINDER SINGH  
Mother's Name : RAJ BALA  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	61 14	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	47 14	40AG	100	B+	7	04.0	28.0
3	B23-SOC-401 RESEARCH METHODOLOGY	64 13	40AG	100	A+	9	04.0	36.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	58 14	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	32 8	20AG	050	A+	9	02.0	18.0
6	B23-VAC-403 FINANCIAL LITERACY	33 8	20AG	050	A+	9	02.0	18.0
	TOTAL	0366		0500			20.0	168.0
	GRAND TOTAL	0366		0500			20.0	168.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.40

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000028  
Roll No. 23253570  
Regn. No. 23-DEO-270

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : SHAKTI SINGH  
Father's Name : BHIM SINGH  
Mother's Name : SUNITA DEVI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	26 14 *	40AG	100	P	4	04.0	16.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	32 20	40AG	100	B	6	04.0	24.0
3	B23-SOC-401 RESEARCH METHODOLOGY	22 19	40AG	100	C	5	04.0	20.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	27 20	40AG	100	C	5	04.0	20.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	17 11	20AG	050	B+	7	02.0	14.0
6	B23-VAC-403 FINANCIAL LITERACY	17 14	20AG	050	B+	7	02.0	14.0
	TOTAL	0239		0500			20.0	108.0
	GRAND TOTAL	0239		0500			20.0	108.0

RESULT : PASSED AND HAS OBTAINED : SGPA 5.40

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000029  
Roll No. 23253571  
Regn. No. 23-DEO-271

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : TARUN  
Father's Name : SUBHASH  
Mother's Name : SUSHILA  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	58 25	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	51 22	40AG	100	A	8	04.0	32.0
3	B23-SOC-401 RESEARCH METHODOLOGY	62 27	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	55 24	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	30 13	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	32 14	20AG	050	O	10	02.0	20.0
	TOTAL	0413		0500			20.0	184.0
	GRAND TOTAL	0413		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000030  
Roll No. 23253573  
Regn. No. 23-DEO-273

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : ATUL MALIK  
Father's Name : ANIL KUMAR  
Mother's Name : SUMAN  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	60 12	40AG	100	A	8	04.0	32.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	58 10	40AG	100	A	8	04.0	32.0
3	B23-SOC-401 RESEARCH METHODOLOGY	38 16	40AG	100	B	6	04.0	24.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	50 21	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	30 13	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	33 14	20AG	050	O	10	02.0	20.0
	TOTAL	0355		0500			20.0	160.0
	GRAND TOTAL	0355		0500			20.0	160.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000031  
Roll No. 23253574  
Regn. No. 23-DEO-274

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : KAILASHO DEVI  
Father's Name : AMRIK CHAND  
Mother's Name : PARVEEN KAUR  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	53 23	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	57 24	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	59 25	40AG	100	A+	9	04.0	36.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	53 23	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	31 13	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	28 12	20AG	050	A+	9	02.0	18.0
	TOTAL	0401		0500			20.0	182.0
	GRAND TOTAL	0401		0500			20.0	182.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.10

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000032  
Roll No. 23253578  
Regn. No. 23-DEO-278

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : ARUN  
Father's Name : PARDEEP KUMAR  
Mother's Name : SAVITRI DEVI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	55 29	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	58 28	40AG	100	O	10	04.0	40.0
3	B23-SOC-401 RESEARCH METHODOLOGY	62 29	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	54 27	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	32 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	31 8	20AG	050	A+	9	02.0	18.0
	TOTAL	0428		0500			20.0	190.0
	GRAND TOTAL	0428		0500			20.0	190.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.50

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000033  
Roll No. 23253579  
Regn. No. 23-DEO-279

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : SAHIL KUMAR  
Father's Name : UDAY NARAYAN  
Mother's Name : KAUSHALAYA DEVI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	60 29	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	52 26	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	61 29	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	44 27	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	29 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	29 14	20AG	050	O	10	02.0	20.0
	TOTAL	0415		0500			20.0	188.0
	GRAND TOTAL	0415		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000034  
Roll No. 23253582  
Regn. No. 23-DEO-282

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : MUKUL  
Father's Name : SURENDER KUMAR  
Mother's Name : SHASHI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	57 28	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	54 26	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	63 28	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	54 24	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	32 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	31 14	20AG	050	O	10	02.0	20.0
	TOTAL	0425		0500			20.0	192.0
	GRAND TOTAL	0425		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000035  
Roll No. 23253585  
Regn. No. 23-DEO-285

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : HARSHITA SAINI  
Father's Name : DALBIR SINGH  
Mother's Name : SHASHI BALA  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	62 22	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	51 26	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	58 23	40AG	100	A+	9	04.0	36.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	52 19	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	31 10	20AG	050	A+	9	02.0	18.0
6	B23-VAC-403 FINANCIAL LITERACY	32 11	20AG	050	O	10	02.0	20.0
	TOTAL	0397		0500			20.0	178.0
	GRAND TOTAL	0397		0500			20.0	178.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.90

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000036  
Roll No. 23253587  
Regn. No. 23-DEO-287

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : MOKSHIT  
Father's Name : RAKESH KUMAR  
Mother's Name : SUNITA DEVI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	60 26	40AG	100	O	10	04.0	40.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	59 25	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	AB AB F	40AG	100	F	0	04.0	0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	45 19	40AG	100	B+	7	04.0	28.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	32 14	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	AB AB F	20AG	050	F	0	02.0	0
	TOTAL	***		0500			20.0	124.0
							14.0	124.0

RESULT : RE - TILL JUN- 2027 IN : B23-SOC-401 B23-VAC-403

DATED : FEB 02,2026  
KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000037  
Roll No. 23253588  
Regn. No. 23-DEO-288

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : JAGDISH  
Father's Name : SURESH KUMAR  
Mother's Name : KAMLESH  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	60 14	40AG	100	A	8	04.0	32.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	51 5	40AG	100	B+	7	04.0	28.0
3	B23-SOC-401 RESEARCH METHODOLOGY	63 27	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	56 12	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	31 13	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	32 8	20AG	050	A+	9	02.0	18.0
	TOTAL	0372		0500			20.0	170.0
	GRAND TOTAL	0372		0500			20.0	170.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000038  
Roll No. 23253592  
Regn. No. 23-DEO-292

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : KRISH MANOCHA  
Father's Name : CHAND MANOCHA  
Mother's Name : JYOTI MANOCHA  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	48 25	40AG	100	A	8	04.0	32.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	50 27	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	48 24	40AG	100	A	8	04.0	32.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	45 22	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	25 12	20AG	050	A	8	02.0	16.0
6	B23-VAC-403 FINANCIAL LITERACY	25 14	20AG	050	A+	9	02.0	18.0
	TOTAL	0365		0500			20.0	166.0
	GRAND TOTAL	0365		0500			20.0	166.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.30

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS

DMC No. 000039  
Roll No. 23253593  
Regn. No. 23-DEO-293

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : RITIKA MIGLANI  
Father's Name : HARVINDER  
Mother's Name : PARAMJEET  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	55 24	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	49 22	40AG	100	A	8	04.0	32.0
3	B23-SOC-401 RESEARCH METHODOLOGY	61 22	40AG	100	A+	9	04.0	36.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	52 22	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	31 13	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	31 12	20AG	050	O	10	02.0	20.0
	TOTAL	0394		0500			20.0	176.0
	GRAND TOTAL	0394		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : FEB 02,2026  
KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_

CONTROLLER OF EXAMINATIONS

DMC No. 000040  
Roll No. 23253596  
Regn. No. 23-DEO-296

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : YUVRAJ  
Father's Name : SUBHASH CHANDER  
Mother's Name : VARSHA RANI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	57 26	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	45 26	40AG	100	A	8	04.0	32.0
3	B23-SOC-401 RESEARCH METHODOLOGY	61 22	40AG	100	A+	9	04.0	36.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	51 23	40AG	100	A	8	04.0	32.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	28 14	20AG	050	A+	9	02.0	18.0
6	B23-VAC-403 FINANCIAL LITERACY	30 13	20AG	050	O	10	02.0	20.0
	TOTAL	0396		0500			20.0	174.0
	GRAND TOTAL	0396		0500			20.0	174.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.70

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000041  
Roll No. 23253598  
Regn. No. 23-DEO-297

RESULT-cum-DETAILED MARKS CARD  
BACHELOR OF ART SEM-04 EXAM : JUN- 2025  
(CBCS-CDOE)

Name : VIKRAM SINGH  
Father's Name : SURJIT SINGH  
Mother's Name : RAJ KUMARI  
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-ECO-401 MACRO ECONOMICS-II	57 24	40AG	100	A+	9	04.0	36.0
2	B23-ENG-401 INTRO.TO DRAMA AND INTERMEDIATE GRAMMAR	55 23	40AG	100	A+	9	04.0	36.0
3	B23-SOC-401 RESEARCH METHODOLOGY	62 28	40AG	100	O	10	04.0	40.0
4	B23-VOC-225 INTERN.ENGLISH LANGUAGE PROFICIENCY DEVELOP.	52 24	40AG	100	A+	9	04.0	36.0
5	B23-AEC-411 ENGLISH LANGUAGE & COMMUNICATION L-4	33 15	20AG	050	O	10	02.0	20.0
6	B23-VAC-403 FINANCIAL LITERACY	AB 14 F	20AG	050	F	0	02.0	0
	TOTAL	***		0500			20.0	168.0
							20.0	168.0

RESULT : RE - TILL JUN- 2027 IN : B23-VAC-403

DATED : FEB 02,2026  
KURUKSHETERA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
(Clerk) (Assistant)

Data of issue \_\_\_\_\_



CONTROLLER OF EXAMINATIONS